
BSc.TE (2Yr) 3rd Semester
09 October 2023 (Afterno:

ISLAMIC UNIVERSITY OF TECHNOLOGY (IUT)

I) e P a: :::::I:: IE::I==b:ft IN111!!iicE::::dE•:::iT;1=:1L:1 :1: ( (1111HIISE )
MID SEMESTER EXAMINATION
DURATION: 1 HOUR 30 MINUTES

winTER SEMESTER 2022-2023
FULL MARKS: 75

CSE 4773: Internetworking PtotocoIs
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Answer d1 3 (three) questions. Figures in the right malgn indicate full marks of Olestions whereas

corresponding CO and PO are written within parentheses-

a) IdentiB the nve layers in the Internet Protocol Stack. Explain the principal responsibilities
of these layers.
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2 for all links. Here, c denotes the speed of light- Figure 1 also slums link lengths and the
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reception. Node latency is 25 microseconds.
Calculate the end-to-end delay for this message transInlSSIOn
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Fig)Ire 1: Network cor6guration for Question 1'b)

2. ,) E,p1,in th, ,p„,ting modes of HDLC (High-Level Data Link Cont")D in c0111ptlter net
working.
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address is unknown to the sender.

IUustrate the essential steps involved in an Address Resolution Protocol (ARP) operation to
discover the unknown address.
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c) Mr' X jntends to transmit 5000 KBytes of data to Mr. Y through a noisy channel in ths
scenario) for everY successful 100-bit transmissionp the channel experiences a loss of the
sut?s.equent IO bits of data. Assuming a maximum packet length of 64 bits, which includes
50 bits of data and 14 bits of control information, calculate the following:

I • a ::e!::1::: J :IL:Pu::tb:iIg ;)1 : FOe:: u1 :: }li: el :To: ::: T :i:1ra it ARQ ) Go = Back NAR Q )

u' EyaITate the performance of each protocol in successfully completing the data trans_
mission.
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3.
a) “In Mobile IP, when a mobile host moves, information about its new location must be sent

to the corresponding (axed) host.” Justi& the statement.
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b) 1?iscuss briefIY the inemciencies in Mobile IP communication and the solution to the THan
gle Routing problem.
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c) FouI.s?nden, Sl, S2, S3, and 54 share a communication channel using CSMA/CD. Here the
conditions are:

• No propagation delay

• An inter-frame gap of 1-time unit
• Collision detection an.er 1_time unit

• A 1-nme unit jam sequence.

Illu?trate the communication scenario and measure the total time units required for the
Ttl?ns to complete data transmission in the CSMA/CD medium access in the followingcase: U
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At t = 0 to f = 4, Sl transmits data

ft f : 1’f = 2, and f = 3, s2, s31 and 54 each have frames to transmit with respective
lengths of 2, 4, and 3 time units. -

At f = 20) Sl has a new frame of length 2 to submit
At f = 319 S4 has a new frame of length 2 to transmit

:I; iT:T;iF2bIcF:aIrn“ forSI is (1–2–3–4)' s2 is (2–4–3–4), 53 i' (4–3– 1– 1),
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